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CE 474 – Class 10

September 16, 2015



For next time

• Do A22 (individual); show work in 
book and bring to class tomorrow.

• Prepare for A23 by reading activity 
and listing questions that you have 
for it; this will be primary activity 
during lab tomorrow.
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Transportation in the News

• Continuous flow intersection

http://www.youtube.com/watch?v=oVI3Ledw7mc
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Notes
• Vehicle trajectories and 

detector status
• Phase terminates when 

min green and passage 
timers have both 
expired

• Phase gaps out when 
passage timer expires
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Download file

Observe part 1: 0:00-0:55
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Part 2: 0:55-2:30
Example detector calls and controller/display responses
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Part 3: 2:40-5:00 Testing your skills



1. What are examples of the data provided in 
the controller status display screen?

2. How many rings can be accommodated by 
the ASC/3 controller?

3. How do you know whether a gap out or 
max out has occurred?

4. How can you verify that a vehicle call has 
been placed?

5. Describe some of the observations that you 
have made on the response of the 
controller timing processes to vehicle calls.
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 For phase 4: 

“T” indicates phase is timing; 

“C” indicates an active call 

on the phase.

For ring 1/phase 4: 

Minimum Green timer has a 

current value of 5.0 sec; 

Maximum 1 Green timer has 

a current value of 0.0 sec.



Critical Thinking Question

1. Why does phase terminate for 
each scenario?
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Doing the Activity

• Step 1. Open movie file

• Step 2. Observe status at 
beginning of Phase 4 green

• Step 3. Observe two scenarios for 
one green indication

• Step 4. Summarize your 
observations
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• Why does phase terminate for 
each scenario?
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• Why does phase terminate for 
each scenario?
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• Why does phase terminate for 
each scenario?
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• Why does phase terminate for 
each scenario?
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t=0
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For next time…


